2 SLO prelB2 HL Short Test 10 January 23, 2023
Name:

Group 1
Result:

1. (4 points)
Consider functions f(z) =4 — z% and g(z) = z + 1.

(a) Calculate:
i) (fo9)(2)
i) (g0 f)(2)

(b) Find the domain and range of the function h(z) = \/(f o g)(z).
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2. (3 points)
The diagram below shows the graph of y = f(z).

-2

(a) State the domain and range of f(z).
(b) Explain why f has an inverse.

(c) On the diagram above sketch the graph of y = f~!(z).

3. (3 points)
Consider the function f(z) = 22 — 4x + 3. The domain of f is restricted to x > k, where k
is the smallest possible real number so that f has an inverse function.

(a) Find the value of k.

(b) Find f~(x).
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4. (6 points)

3z —6
Consider the functi = )
onsider the function f(z) 12

(a) Sketch the graph of y = f(x).

(b) Solve the inequality:

f(x) > —%x +4
(c) Find f~(z).




